EF7J<'T/7 * e /\%.51_%

1. HkEv 7
1) # %
A, No.l FFRASAMICEREL., IrRENOMKEZ, BHRIFFICHK vk —
NRFECHEET 2720DbDTH 5,
2) BXEHIAR
B X BhSUKFhE—%—Kv T
& : ¢250mm
Ht H & : 695m3/min UL
28R 0 20m
B OB B ¢ 37TkW
B8 2/ (NG
3) O %
Ry 7O, ¢250mm & T 5,
(KR v 7oA FE V =2.360 m/sec)
4) &
PR ENE SR 20,000m3 %, 48hr CHiK T 288 & L. %l 18+
Tt 1505 26K E 35,
Q= 20,000 X 1/48 X 1/60 = 6.95m3/min LA L& F 3,
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hl-1 = HHEERETFL <~ —RAECOP
= +10.735 — —6.823
= 17.558 m
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= +10.735 — -9.323
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H2 = h1-2 + h2
= 20.058 + 1.8
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ARV TITBNT
HHE 5% 20m HHE 8m3/min (COP)
2HAE 22m HHE 7.5 m3/min (BOP)

BERvyFicBnwT
H-HE 25E 20m HHE 7.5 m3/min (COP)
2R 22m HHE 6.6 m3/min (BOP)

XoT, HHEEDOA W (Ko W) BFR Y 7oREHHT 5,

HWL 225 COP £ T 15,120 m
15,120 m =~ 7.5 m3/min=2016min=33.6 h

COP #*5» BOP ¥ Colf¥i &
5580 m +~ 6.6 m3/min=3845 min=14h

HWL 2> 5 BOP ¥ -CoOHE/KEFE]
33.6h+14h =47.6h
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% W wOE Q ERE (m) FE (mseo) [BxEH| B (m) |[E # BXHE h

m3/mi n m®/SEC d V=Q/A f L n | fxnxVZ2/2g | fxL/dxVZ/2g

BE HE %15 6.950 0.115833 0.250 2.360 | 0.051 18.908 1.096
45° HE 6.950 0.115833 0.250 2.360 0.12 2 0.06820
ToFE 6.950 0.115833 0.250 2.360 | 0.047 1 0.01336
Wk 6.950 0.115833 0.250 2.360 1 1 0.28416

BE HE %15 6.950 0.115833 0.350 1.204 | 0.049 5.305 0.055
90° HIEM@EYY) 6.950 0.115833 0.350 1.204 0.23 1 0.01701
45° HhE 6.950 0.115833 0.350 1.204 0.12 2 0.01775

BE ik 6.950 0.115833 0.350 1.204 | 0.021 16.900 0.075
ik E22°1/28h%E 6.950 0.115833 0.350 1.204 0.07 1 0.00518
TR 6.950 0.115833 0.350 1.204 1 1 0.07396

hF 0.47962 1.22601

1.70563
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